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Read and write job title

and control information

\

Read and write material properties, nodal points

elements and distributed loads

A

Generalize load vector and print

Calenlate and store the stiffness, arrange the
stiffness matrix for

1) One-dimensional element

2) Triangular element

3) Four-point isoparametric quadrilateralelement

Solve equation by Gauss elimination

Open uﬁrdisplabement

array and print

Calcnlate and print, normal stresses
shear stresses, principal stresses

and angle of principal stresses.

! | = . . L
2.4 feeunrAwLEMILlUTURTY  WPLSTR




0. 50

Q. 40

0. 30

0.20

0.10

| |

-——— danIndaay

L4
qanIiLtaTIsy

1.0C0

M

1.333

2.5

1.500 1,667

MAWAURUTT SN —= 13
Xy

e -
s



0.9C

0. 80

0.70

0. 60

0. 50

0. 40

0. 30

0.20

0. 10

uanIIMnGaL

- ¢
UanIILnTIIzn

47

1. 00

1.333

e ¢
zlﬁll 2.6 MWAMUTTH

1. 667

' )
M —E— ua

y

-
-

=



L]
MITNN 3.1 iR IanTusesds

4 [ s - .'.
. mMInnT wartmannndnilus sy 1981
B 3
b LTunu
(ol 1 1, 5 T, 24 W,
f5ay 46, 63 20. 38 21,67 23. 37
(3.5 x 6.7 x 15.5 1, )
A ooy 16.51 14,30 14, 51 14.98
(3-8 * T0 % 16:0 'Dll.)
ATNN 3.2 Pl | o nagaeds
) - - - - -E‘i?m{;
pRudnLf L nagaeds fguay BINT | (i
int)
maedn (nn. /) 66.87 148.73 284,71
(Flatwise Test)
magn (., /ml) 53. 87 191. 39 206.91
(Endwise Test)
lundsuanm (nn, /mid) | 22,32 73.04 93.71
Tundatinwgu (nn. /m2 ) | 6,500 - 8,400




(] | ]
ATNN 3.3 gmﬁnﬁﬁﬁﬂqgunﬂ

: nsunlu faaDn maefe
Yuna - 2 2 ans lna
1767 28 ( NN, /70) ( nn, /o)
ui luarnae 39, 87 8.09 120
L] 1 .
1 . 4 L 3 .
il 61.06 10. 10 120
AINY 3.4 iR LB nanesdsne
PRANLR L nagenTgne Bsuay Bqvaud
mdesn (nn. /o) 46.10 58. 89
o & 4 2
AN (NN, /mic) 1.56 1.16
§ 0= - 2
mMav Laau (nn, /1) 4.10 3. 01
-— z )
@l s =@Ananng Lauanu 0. 66 0. 41
Tunidunns (nn, /) 1.73 1,63
Tundedmmu (nn. /%) 9,000 16,000
dndnlones 0. 20 0.14




100 —==—
,f
80 |
-
&
3 60 |
£
VE
=
v O F
&
=
27 Yy | e ASTM C1LL-75a
s
-
20 | ” Hiﬁﬂnﬂﬁdiﬁﬂyi
rd
///
1
200 100 8 4

e
TUMLLDTANAZUNTY

L] [ ]
;ﬂﬁ 3.1 GNEIURAZALTEINTY

20



)

2

(NN, /1

-
-

4
NG IROULDNDS N

[

5.0

4.0

w
o

n
o

o
.

. o Moy NMadsuey

L] ]
a fouNnadgsay?

0 0.25 1.0 2.0 3.0

y [ oL, | '= Q“" .Q 'l
i 3.2 Madsinofnanesdgneiiszuziseam iy lnh



L]

2.
. [BI)

WUALWLINER (NN

90

&

\un
(&]

s
o

20

52

()

1.0 2.0
i o I - M
nf 3.3 0 M lindadnmuesSsueg

=
h‘)‘)mh?tm (x 102)



-

53

|
:r s : .. :"-.'-'.‘
[ ¥
\SNED e
300} =
4
&
< 200
&
-
=3
=2
=
100}
| 1 1 —

1 3.3 3 mmmlundstinguoeeds sy



ni. /‘:,11.2)

L

WU IIEn

f
\

40

30

20

10

1

54

-
0.5 1.0 MIWLATUN( X 10 2)
ﬂ. L] i ol L] - L] LEL . -
1 3.4 mamamlundstinguresds neinanudsiay




)

2

WLOLUINEN (NN, /T

50

30

20

10

55

I

0.5
L] L - a L] X
nf 3.5 mamm lundaimguresds

o -2

Ve o170 mmATER (x 10 %)
= - -
nennanauds oy



56

.- -«
WresFusiinseases

‘Indaim o, o1, waniza

=

Tl

™

o ! B ] ' /!
U By AT _ Channel, 150X75X

T

i \E;r‘ TN L

ll

B¢ ned L ‘t‘gnag igﬁﬁwu'ﬁm;ﬂ'laﬁ'ﬂm;ﬂ
n. fau g e minmasu M Lo e
igm‘ln |
1) mwignﬁ'\umunlwmqh
% ‘G_"‘" 2 ; B - y |
) o g '

n MOUNNEBsEmMTUNRGRUaIEn  Squeg

nf 3.7 MounBgdmiumndayusinfiding




P-r‘lq 3.8 l'a'@ﬂét

4

/ / //l," -

7 /B .-Sf;. v '
gL Méﬂ.ﬂ@mqﬁg noup A L Tin g neds
/) ‘(‘,»":W"T‘(

MIvAdaUNNIIShTaNds no

57



LI |
(n) M Reuesdgnen (Brick Couplet)

] ]
nf 310 mmmadauna IReuresdsne



L4

- o
(7)) M (RIUTAN DS Nad W NaU

(] i
1 3.10  mndaumie@euesene

59



' . ' & - 7 1 L
2 3011 uaneR N aRinAa Ingacne e Inefgew ianeds

60



'%""1 0
H- IOO

(N) WN BwWt,

L] » L]
o312 wam TEUUANTIITON LN NABL AN M TR

61



bl I Pl
SN e A

A e

L
(A1) WN BW3, u ¥ 1. 667

] v ]
1M 3,12 UGN TEUUANTNITONLTN NGBS AUNEINI IR

SR S - ——

62



2. 000

(3) WU BWS, % = 1.000

L} v L]
1M 3012 WA TaEuANTANTANLTNGBS MBI 1)

ey

1)

63



' L] ' L]
AN 4.1 pudi 3enazesananiaen Winean LR Neds

= LI - bl L] 3 T ) .
ot . |ndetiewgy [drdngeuwes | mdeen ¥ | ahdade
- L'}
uikneds 5 5 5

(nn. /mus) (nn, /UT) | (N, /TT)

BW2 9,714 0.24 44.75 1.79

BW 3 8,263 0.26 39. 40 1.56

Bl 9,375 0.23 39,76 1.59
H3t

BS 15,625 0. 14 56, 10 1.16

WL * MLKAEIIN 08 WIINEEANAI NG nads

-

-l

T | - ﬂ' . B
* IR IaNEsuaglan 4 % 19A1AIEN

L]
o MAINIENBEIALTIAT 2 % 9BNavEn

64



2 ' SR o
ATNN 4.2 M7 IMAMIatILT D i neds (T AN YR deula s

(2) (3) (1) (1)

Y fﬁ:‘:ﬂ“ﬂ;‘:;m %"‘"""1‘5“‘"’” MIFWWMT | an anndey LA IANARY AN TYRERY
L - > v

b mamatty | Iwemlasey | preun  (2) SESAI £ 11 B R

(U, ) (a, ) (3M.) ( nn. )

BW 3 5,28 3, 50 4.59 1.51 1.15 4,470
Bily 3, 51 3,01 3,64 1.16 0.96 4,650
BA S 7.10 2.50 = 3.20 - 4,275

L] L L] L] L] L] L] »
W (1) sammedeums imfilarmusesuiineds Anmmsinfousiioi neds]navz3m

“(1
(2) wamadinsaamaeelnlie tead am

(3) m m’mwmﬂmﬁ'ﬁn]mwumugn 718 1030 (Empirical)

vy v

MMIMNERL L1 MUY

8)

b

G

+ 7)P

0.915 Et (E)

L] LI Fl
W iiuuailnernninszyrangfues

Q9



4 k| 4 4
ANTNT 4.3 GRNINGNNAME N0l neds
oyl o (3) (1) (2)
s ;m'é " AL uanITYnRday A IR NI TAUAN LanIIYRE uam INNGaL

3 (nn,) (nn, /'mu.z) (nn. /':m?) (NN, /-n:u.z) NI (1) MIAUM (2)
BN 1l 2,324 6,037.59 9,251. 59 6,823, 25 0. 65 0.88
Ba2 5,050 8,654, 37 12,804. 26 9,521, 07 0. 68 0.91
B4 3 4,470 10,001.76 12,775.08 9,743.29 0.78 1.03
BW L 4,650 13,629.74 15,474. 21 12,771.87 0.88 1.07
WS 4,275 6,186.48 17,085, 59 = 0. 36 =

- "4 4 o "4 -~ r
WAL (1) tam13inrzmniedslinlun iead

L 4 v »
(2) Mmrfwamluan NI BNINTAG (Empirical)

P
A

0.915 Et (%)
(B) +7

e, ks, vy v v
(3) MWEAMMNUN P UazmIImi A dwrralsammlanwsunisidunselngle *Least square®

] »
. L
TIUMMUALUTEN LEUA TNUU

99



4 " "
X < : i
ANTNN 4.4 WEMINTLUTUU LREUNA TANLANLIY AT N
(1) n .‘ﬁﬂq (2)
e atiilnr uamIvnaey | MoERuIeAd Ly s oM (1) ngd (2)
U N A Benjamin W&z
A2 AN UWUANZUEN LA INAGDY Uan  TNAGL
¥ (nn,) (nn.) William (NN)
Bdl 1. 000 2,324 2,144 4,053 0.92 1.74
BW 2 1.333 5,050 4,115 4,758 0. 81 0.94
Bd 3 1. 667 4,470 4,240 5,549 0.95 1.24
mh 2-000 4;650 4,683 6,575 1.01 1.37
(3)
WU LW (1) UWNANTWAWWIINEUNT (2.24)

(2) UWNAMTINAUNAIINGUNT (2.9)

L 4

v

(3) WINAMLENAUMWIINANNIT (2.25)

L9



L L] L} ]
ANTNN 4.5 GREMTENLTIINeBsia nn T InaDeda

68

L}
WAL INING, 6 (. /'n:u?)

m'mzjg_
A A MY AUENY AYNE ANIEND
m'mqu m'mtjq m'mzjq m'mz;ia
= 1,00 = 1,50 = 2,00 = 2,50
20 35.72 16.30 6.59 0.76
25 22,86 10. 43 4,21 0. 48
30 15,88 7.24 2.93 0. 34
35 11.66 B2 2.15 0. 25
40 8,93 4.07 1.65 0.19

il Ad ' J ' K
wplw ol nedseendien lindatmmusan 9,000 nn. /o2

L] ]
Wa s NAAnEILLD LT 0. 20




] ¢ v v 4
AMTNN 4.6 WARNIIIULDAE meuaz?'ﬂmu?n‘lumﬁ LAt 833 L lun 1oad Lum

ol : ALY ; el T
INDs AYNEAY (T, ) ——  |YNouLDad | Yun
- AW
BN 1 150 1. 000 49 64
BN 2 200 1,333 7 96
B 3 250 1. 667 91 112
Ba 300 2. 000 105 128
BW 5 150 1. 000 49 64




4 D A
ANINN 4.7 LAMIFILILMUIBULINUA NS L PG AT

EL.NO . X Y

12.5000
12.5000
12.5000
12.5000
12.5000
12.5000
12.5000
315.0000
je.ccao
15.0000
36,0000
35.CC0O0
35.CC00
35.0000
EF,0000
55.C000
55.0000
S8.CCO0
55.0C00
5€.0000
ce.CCOO
15.CCO00
15.0000
15.CCO0
1£.CC0O0
15.0000
15.C000
7£.CCO0
S5.0000
§£.CC00
95.0000
95.0000
SE.CCO0

1 12.5000
2 3f.0000
3 £E£.C000
4 15.0000
5 95.0000
6115.0000
7131.5000
A 12.5000
S 3f.CCO0
10 55.0C0C
1l 75.0000
12 ¢E.ccac
1311£.¢0C0C
14137.5000
18 12.5cC0¢C
16 3£.CC0C
17 5£.0000
IR 75.0C00
19 95.¢C00
2011fF.0000
¢1131.8c0C
¢2 lz.500¢C
23 3t.0cCo0
ey SE.0CO00
25 1f£.0C00
26 S9E.0000
eTlle.0Coc0
201371.5C0¢
79 12.5000
g 3t.cooc
21 55.CC00
32 15.0C00
33 sE.CCoOC
24115.6C000 95.0000
3IS137.5C00 95.0000
26 12.5C0CHLE.CCOD
37 3£.0000115.0000
38 5£.0C00115.0000
9 1¢.C000115.CC00
40 95.0000115.0000
41115.0000115.0000
42137.8000115.CCCO
44 35.0000137.5000
45 5E£.0C00121.5CCO
46 75.C000137.5000
47 95.0000137.5000
4811E.€000137.5000
49131.8€0C117.5000

X=S1RI:S5S
-T7.07010 CO
-6 06500 00
=4. 021360 0O
-2.05580 00
-9.0190D-01
-2.4253Nn-01
-2.02¢60-02
=h.E4010D 00
=3 0R48TH 00
=4.0060D 00
=2.73560 00
=1.61&30 00
-T.4550D-0C1
-l.700420=-01
-2.22920=01
=-2.20210 Q0
=2.45140 00
=2.34770 00
=1.6030D OO0
-r.A5200-01
-1.76520-01
=2.44330=-01
-A.46129n-01
-1.75000D 00
-2.02710 CoO
-1.7500D 00
=-0.4]1290=01
—-2.44330=-01
-1.T65210=01]
—7.08200-01
-1.60300 00
=2.03477T0D 00
~-2.45140 QO
-2.20210 CO
-2.22920-01
=-1.7A42D=-01
-1.4550D=-01
=1.61630 00
-=2.T3E61D QO
=-4.004AHB0 00
=3.80470D 00
=G 64010 00
=2.026EN-10)2
~2.42530-01
-a,019nD-001
-2.05%8D CO
=-3.02360 00
-6. 86500 00
-1.07¢81D0 an

Y=STEFSS
-7.F1EIN (0
—t EHELL CO
-2.22¢2C~-C1
-7 h43D~( 1
-1.76%2C-C1
-1.1842(~C1
-z.02¢60-(2
—€E.FERQOC €O
=3.004170 CO
-e.2C2 100 0
~F.41zSC-01
~1.P620C-01
-~ 1. 455€ED~C1
e, AL R
=3, 027¢6C N
~ 4. CCEED (0
e hELAL (0
~1.75A00 CO
<1t L2CD. €0
—1.61€20 CO
-5.01°nC=C1
- {.C55E0 (G
Fi.13E6P €0
~2.3471C €O
- 2. C3T1D (0
=200
=23 1YSES €O
—Z.CE5ED (@
CL.016GPN-CL
1.61LE0 €O
1.66200 (0
—1.75800L €0
- 245140 €O
—~4.CCCLEN (O
—3.022L1 CO
-2.42530=-C1
- 1.45%E0- (1
-71.0820C~-CI
-E.4126C=-Cl
-z.:C21D (C
=3,P041C CO
—Et.PESCE CH)
- C20L0=-(2
- 1.78420-C1
—1.76%20-(1
-2.442330-101
-2.7272621-¢C1
~ELEADLE G0
=1 81610 €O

1

(n) uus BW 1, ﬁ-'- 1.000

XY-STRESS

£.35¢10 CO
=-3.52410 CO
-1.33220 00
-B.345CDH~-CI
=&, 20E8)-{1
-1.96240-01

4.65360-02
-3.5241D CO
-3.55730 00
=3.646100 CO
=2.05710) CO
=1.63990 00
=~B. 1¢£TD-01
=1.96240-01
-1.33221n 00
=3.66100 CO
-3.7585D QU

-3.3760D 00"

=2.55110 GO
-1.€3%90 CO
-5.2055D-01
-P.34500-01
=2.45110D €O

-3.37¢00 00

~3.59C70 (0
-3.37€¢00D €O
=2.45710 Q0
~1'.34500~-Cl
~5.2055D-C1
-1.63%9N Q00
-2.5811D €0
~3.37€00 00
-3.75050 00
-3.6618D CO
-1.33220 0o
=1.96240-01
-0, 76€6TD-C1
-1.6359) 00

=2.45710 CO.

~=3.colen Co
-3.F573D C0
=3.92410 00

4. 6536D-C2
=1.9624D-01
=5.20550-01
=08.34500-C1
=1.23220 00
=3.92410 00

5. 35910 (0

MAX-STRESS
-2.47500 CO
-2.0306C CO

2.16231C-01

B.14520-02

5.52100-C2
-1l.)623C-C2

2.001000-12
-2. 83050 LD
-3.2734C-0C1

b.66060-C)

Uab4hSal-C1\

4.905490=CL

1.31C9D=-Cl
=1l 1€33D=(2
2.162%210-01
6.66E60-C1

1200100 (0

1.33600 00

9.07160-C1

4.60580=-C1

7.52100-02

9. 146820-C2

Nt 554N-C1

1.3)60C 00

1.552€&n €O

<2600 0

A.4ahS4C=-C1L

g.14620-C2

J.521C0-(C2

4.50S80-Cl

g.8736D-C1
1.23¢600 Co

L.30710 ¢

6.66E6D-CL

2.1%831710-C1
=l.15330-02
1.31C50-C1
4.50G5E0-C1

U."4S4%C=-Cl

6.66E60-C1
-3.271240-C1

2.66100-C2
-l.16220-C2
7.5210C6-02

B.14520-C2

2.1€2710-C1
-2.683048C Cn
=2.41¢CL CO

70

L4 ‘& " "4
103U LA T AT LADT

MIN=50110) &% AL
=152 BTy
=1 CEEZE Gl =F L S
=h.262%C 00 ~-71.1%
“203!—"6': Un 'L‘"o(‘]
-4 .09320-01 =-44.t4
=0 1202002 nELCC
—1.0&02) Q) -4, 21
=l 00200 CO =45.00C
=6, 015701 00 =51.5¢
—hohzliE) OO —FE L EL
=2.062¢(0 00 —%2. 1)
=1.0223C 00 =45.CC
-4,C5'0=-C1 —4C. 2¢
-4.26296 Co —-1E6.2¢
-G UISIL O =30.CE
-¢,2C5%0 00 ~48.CC
-5.441FD CO =47.50
4. 01949 0 =45,.CC
-2.6626D0 0 —-31.E€
-1.1730n 0w =27.%1
=2.30006C 00 =21.2)
=4, h21ER CUY =24, ¢4/
=0.90000 G0 =helfC
=S.u2MC o =45 .00
=S5.a4 00 0N =4z,5C
-4 .4218BC CO = 24,4¢
=2.3016C U =21.32
-1 17370 Co =21.81
-24PC2¢C 0O —=A7.F%
=4, 1944%C g0 =45,CC
—G.441010 OO =41.5C
-&.20850 CO0 -45.C0
-6.0751C U0 =30 .CF
—-4.262%10 COQ =-)H. ¢k
A 00 320=-C) =4U.2¢
=1.6223C Qu =-45.00
-2.0852¢0) 00 —-%z.11
-4.4Z 1L GO -55.54
-6.015110 Q0 =-51.62
=-T.44200 €O ~45,0C
=106 01 =44.21
=6.12020=-0? 4t.CC

=-4,0%320-01 ~=45.¢64

o NPT N A i 4 AR 4 4R
-2 3806 00 ~€b.t]
-4,25290 QU =-11.3%¢
). 06820 U1 -45.1¢
-1.3217E 01 45.CC



i |

i)

NaP.

() WN BW1, % - 1.000

NUMFER

AT = T B g e

10

ux
-C.67490610-01

-C.7044R68D-01
-C.B£65R020~01

-0.9322943C-01
~C.96Cl6200-01
-C.96552%3n-01
-0.96128069C-01
-0.957R575D-01
C.0
-C.31548670-01
-C.3960893D~-01
-C.4558436D-01
-C.562C163C-01

-C.595024¢0-01

-C.£0875680-01
-c.61211580-01
~0.17488120-01

—=C.l479049N-01
-0.20242310-01

-0.2579059D-01

=C.31031C20-01
-0.34215050-01

-0.3545N038D-01

-C.15720790-01
-0.44276920-02

-0.3653731D-02

-£-46034463D0-02
-C.71760010-02

-0.10745070-01

—C.131R0790-01

-0.13875830~-C1

-0.134B2380-01
C.13483238p=01
0.13875830-01
0.131080790-01
C.10745070-01
C-7116011D-02
0.4034462C-02
0.3633731D-02
0.4427592D-02
€.3572079M~01
C.35450380-01
€.3421505p-01
€.31013103C-01
0.2575059p-01
0.20342310-01
C.1479049C-Cl
0.17488120-01
Q.A1311580-01
C.6087668C-n1
0.595024560-01
C.562C163D-01
C.45984360~-01
0.39608930-01
G.3154867D-01
0.0
0.95785750-01
C.56128890-01
0.9459293D-01
0.96016200-01
C.93239430-01
C.8665R02D-01
0.7044R8600-01
C.67490610-01

Ly
0.27551A¢D CO
0.2776C73D 00

.2C45¢77D 00
C.l6212%24D CC
0.17Z452530 00
c.cl2na226N0=-01
C.¢12115€6p-01
N.26283292D0-01
C.27¢5€05D0 00
C.Z24€C%RTD CC
0.2C72¢540 00
C.1£25107D 00
C.124S 18ED CC
0.5Q97195N-01
C.EeCETSHUN=-01
C.2¢712i9CeéD-C1
Q0.z603¢120 00
C(.2372¢44D 00
C.eC1743en 00
0.1€25265D 00
C.1724223170 CO
C.EGT11¢52D-C1
0.56°0z%£&D-01
C.271%11Ch-01
C..2827€9¢0 CC
N.c21&¢3CD 00
0-16&2¢53D 00
C. 15S3ER4D CQ
L12118ACHD CO
0.BFERZSON-01

«SEeC1EID-CI
D.zftFLE3E0-01
0.250°9%300 00
C.celaCsin ca
»1910%48Nn CN
0.1L55R 193D N0
C.11E21n9D 00
C.F12120€0-0])
N.ACENE3460-01
Ce23EI 159D-01
“2E8Ce k2D CO
0.21PLC4S0 0O
C.1870708D 00
C.1523¢3%¢6D CO
0.11507740 00U
C. 15E£37HD-0L
L.3S€0E53D-C1
N0.1T7256180-01
(.25CNEC3D 00
C.2LE1207D0 CC
C0.lBE&A3550 0D
C.LE524ER6D 00
C.l1¢6¢/1D CC
0.702L19460-01
C.ILE4FHT0-01
C.1C4EE4CD=-C2

(=]

a

-

0.2512234D 00
0.21€2¢5FN 00
C.lEEI(51D GO

0.1530€200 00
N.1154719D0 00
C.73C0e55D-C1
0.c
=N.19112280-02

aE el

71




72

] (9) WUNBW2, g = 1,333
EL.NC. X ¥ X=STRESS ¥-STRESS  XY=-STRESS M4X-S1RESS MIN-STRESS 2MGLE
L 12.5000 B8.5000 -5.93800 00 =1.54Z10 €l 7.37C50 00 -1.S1€70 €O =1.5446D C1  z8.¢;
2 2€.000C E.SCCO -9.5536D 00 -1.5548C €l -8.75590 00 -4%.5405( CO -'2.4GE&1C €1 —2C.Z7
3 S£.0CCC £.5000 —2.93230 €O 1.44¢50 (C -3.03E00-Cl 1.4615C (9 -2.3543( co -ne.0f
4 75.0€00 B8.5000 -1.04%0D OO -Z.AT£SD0~-Cl —2.££3230-01 -2.02¢8D-C1 —=1.13CS0 €O -72.47
§ 55,000C F.5SCCO -1,40320-01 -7.64751C~C3 =1.25830-01 £.625]C-02 -2.2210C-C1 -5S.6¢
611%.0000 B8.%5000 1.8747N0=C1 -1.17570-€2 £.30€10-C2 2.C2CCC-C)l =-B8.6331L-C2 12.51
7137.5000 8.5000 9.97560-02 4.697z0-C2 1.43750-€1 Z.15%30-C1 =7.2751C-C2 25.6EC
g 17.5C0C 2%.1650 -1.1S130 OL -1.7120C €1 1.01030 Ol —-4.CB2CC CO =-2.%%45C 01 27.11
9 35.C00C 25.1650 -6.14280 00 -1.15SPN Cl -4.54E10 €O -3.5670C €0 -1.4173C Gl -Z29.%2
10 S%5.0000 25.1650 —4.95940 00 ~2,.55110 €O =-4.9041) 00 -5.00540-(2 =1.C46CC Cl =S¢ af
11 7%.0CCC 2%.1650 =3.65730 00 =2.6776C=C1 =1.9151D 00 5.11S5C-Cl =4.527C0 00 =-¢5.32
12 9%.0C0C 2%.1650 =1.8071D 00 -4.£E€4D-Cl =1.00730 €O 7.5630C-C2 -2.!550C 00 -¢1.¢€7
13115.0C0C 25.1450 =7.19060-01 —2.74230~C1 ~3.38270-01 -1.££%10-(1 -$.2£320-C1 -5B.°C
14137.5000 2%.16%0 —=1.57170-01 S.03ALC-C2 T7.51800-02 1.1135C=CL =1.73S€C=Cl 74.1C
15 12.500C 41.€€50 -1.34750 Cl —1.5SET0 Cl -7.63870 €C -6.95CCC €2 -2.2%13C Cl -4C.2?
16 35.0000 41.6€650 —6.57930 00 -£.19400 €O -5.35450 €O -1.ST16C CO -1.2RC2U €l ~4C.T1
17 S5.CG0C 41.%€50 =5.4236D 00 -4.9013C QU -5.60000 00 4.4044C-Cl =1.0771C €L —4¢.3;
1€ 7%.0C00 41.6650 =4.25€30 00 -2.CE8SL0 CO =3.97¢90 00 9.491CC-CL ~T7.2945C U =5Z.€2
19 95.0000 41.6650 =2.45320 00 =1.2719C €0 =2.30270 00 5.10570-CL =4.242CD CO =SZ.1¢
Z011%.000C 41.EE50 =1:1202D0 00 —1.0446C €O —=1.16090 00 7.5245C-C2 =2.24600 CU =4k.(2
Z1137.5C0C 41.6€50 =2.7004D-0U1 —1.51510-CL -2.56Z1D-01 S5.LBLIC~C2 —4.7337C-Cl -51.51
22 12.5000 40.C000 -S.6S2R0~CL = 1.081%C Cl =-2.87C40 00 -1.93€10-Cl -1l.1%62C Cl -15.12
3 3%.0C0C £0.CCO0 —4.13080 00 -S.165%6C €0 -6.66130 00 4.72C3C-C1 -1.276SC Cl —26.¢°F
24 $%.0CC0 60.0000 —3.94340 00 -£.41340 €N -6.19040 00 1.54€00 G0 =-1.0903C 01 -41.¢&1
25 1%.0C00 60.0000 =3.3539D0 CO -2.856570 €0 =5.11240 00 1.£%5750 (0 =B.5765C 00 -44.4C
26 9¢€.000C 60.CC00°—2.28AR0 00 -2.6378C CO =3.63750 00 L.175%0 (O =€.1C41C 00 =432
Z711.0C0C 6C.0000 =1. 12460 00 =7.14230 €O =2.1763N) 00 6.04450-CL =3.0713C 00 =-2A0.4%2
Z28131.5000 60.0000 =2.79230-C1 =6.5C270-Cl -7.22330-01 1.70300-Cl =-1.43§SC 00 -21.5C
26 12.560C P0.CCO0 -3.%8190-01 —7.2559C CO -1.85580 00 1.141iS0-C1 =7.72290 €O —1¢.1;:
10 3%.000C AC.0000 —1.21190 00 ~17.32710 €0 =4.94400 00 L.54460 CO =1.0000C 0L =-27.14
31 55.0C00 80.0000 —2.32400 00N —*,E4E50 (0 ~4.06460) 00 2.22:60 (0 -1.0406C 01 =-2k.5%
32 75.CC0C 80.0000 -2.37250 00 =4.5A97C 00 -5.69630 00 2.22Z10 CU -S.268%30 CO -26G.¢¢
13 9%,00CC 80.0000 =1.77500 00 -4.G533C (0 -4.6432N0 00 L.86E10 00 =7.655CC €O =2E.11
3411%.0000 80.0000 —9.0E590-01 = 2.F¢200 €0 —2.13€3D €O 1.14170 €0 =5.7122C 00 =133, 1¢
3€137.5C0C 80.0000 =2.24400-01 -Z.5119C CO =1.16590 00 2.£5120-C1l ~2.COL40 CO -Z2zZ.7F
16 12.5€0C100.0000 —1.71590-01 =4.6C2&0 €0 -1.50280 00 2.89920-Cl -5.06%51C €0 =17.01
37 3£.0C0C100.0000 =0.1454D=C1 —£.4C440 (0 =3.951C0 CO 1.45570 (O =-7.6785C UD -25.52
36 -55:€C00100:0000 =1:56250 OD ~5.1853C €0 =5.3737D 00 2.2€:20 €O -S.0S4Z0 00 -:%.7:
36 71%£.0(CC10C.0000 =1.96350 00 =4.$5C3C €0 =5.85720 00 2.57260 €I _-5.5264C €O =27.1¢
40 95.CCC0100.0000 —(.58250 CN —£. LES30 €0 —5.27270 €0 2.28230 () -9.C542C Q0 -25.11
4111%.CC00L00,0000 -8, 145640-01 ~5.4044C €O =3.95100 00 1.45910 CO =~7.47B50 QO —i%.5:
€2131.5CCCICC:0000 —1.71590-01 —4<£C36C €O -1.5028C 00 2.99930-CL -5.0451C €O -17.C1
43 12.5000120.0000 ~2.24400-C1 ~Z.¢11SD (0 =1.1659D0 00 2.65120-CL -3.0014C CO -22.7¢
44 3%.0000120.0000 -9.0R590-01 =2.£6200 €O ~3.13830 00  L.14170 €U -S5.7122D €O -23.1¢
t¢ £8_CCCC12C.0000 =1.77500 00 <4.0533C (0 =4.6432D0 00  L.B6ET0 CU =7.£95¢L CO -2E.1]
46 75.€000120.0000 -2.27250 €0 —4.SBS10 €O —S.65€30 €O  2.32210 CO -9.2843C 00 -35.4%
47 95.0000120.0000 =2.33400 00 =%.84E9C CO -h.06460 00 2.22:60 CU —1.64060 Ol —-2¢.6;
4811%.CC0CL12C-CCQ0 —1. 21190 00 -7.3231C €O -4.54400 00 1.5446C CO -1.COBCC OL -25.14
491317.5000120.0000 -3.48190-01 -7.25550 €O —-1.85580 €O 1.13150-C1 =-7.72208R 00 -1%4.17
50 12.5000140.0000 -2.79230-01 =5.9037C~C1 =7.222%0-01  1.70300-Cl —1.43550 €O —11.6C
£1 3°,0C0014C.C000 -1.1246D0 00 =Z2.1423C 10 =2.1763D 00 5.0445C-ClL —23.PT12C OO —2F.42
£2 €5_(CCCC14C.CCCO —2.28680 00 -2.€37E0 (0 =3.63750 €O L.1765C (O -6.1C4HLC 0D —47.6:
53 7%.0000140.0000 -3.35390 00 =2.565170 C0 -5.11360 00 1.6%5:30 CO —P.S1E50 QU -44.40
€4 9E_CCOCI4C.CCO0 -3.964340 00 —S.&134C CN =&.1ACB0 00 1.54¢0C 0 -1.0S03C 01 —41.¢£1
€511£.0C0C14C.CCO0 —4.1308D 00 ~€.16%540 €0 -6.€6130 00 4.73C3C-Cl -1.3765C Ol -34.6%
56137.5000140.0000 -9.69230-01 -~ 1.0A160 €1 -2.8704D 00 -1.53€1C-CL =1.15520 €L -15.1Z
57 12.500C158.3350 -2.71040-01 =1.5151C~Cl =2.56210-01 5.1811C-C2 ~4.17437C-C1 —-%1.%3
€8 3€.0C0CI5F.3350 ~1.12820 00 - 1.C44&D (0 —-1.16090 00 7.5245C-C2 -2.2400C U0 -46.C2
59 55.0C0C158.3350 -2.45320 00 ~1.2778C €N =2.230Z270 00 5.105710-CL -4.242C0 CU —-5Z.1¢%
€0 75.CCO015B.2350 —4.25630 00 -2.00S1C N0 -3.97€8D 00 S§.4510C~Cl =1.29450 CN —€Z.¢2
&1 95.0C00158.2350 -5.42360 €0 =4.SC730 €0 =-5.60000 00 4.404%0-CL =1.0771C Ol -4&.3:Z
62115.0000158.2350 —6.5753D C0 =8.1940C (0 -5,35450 00 =1.57160 €O —-1.2BQ2C Ol _-4C.71
€3137.500C156.2350 -1.34750 OL —1.59R7C 01 -7.63870 00 -6.SSCCC €9 —2.341720 (lf-s¢.22
&4 12.5000174.8350 —1.52170-C1 S.C3PID-C2 7.51800-02 L.1119C-Cl -L[-7350C=0i 74.1C
65 35,0000174.8350 =17.15060-01 —=2.7423C~CL -3.38270-01 ~1.66570-Cl =S.243Z2(-01 —FE.5C
&€ 5%5,0000174.8350 ~1.80710 00 -4.5884C~-01 ~1.0173D 00 1.562C0-C2 —Z.25561 CO -€1.€3
67 75.0C00L74.F350 =3.6572D 00 -2.£1740-C1L ~1.91510 00 S5.l11$50-Cl =4.5370C CO -£5.32
48 95.0000174.8350 ~6.55540 00 =3.S91IC €O ~4.9041D €O =5.C0S40-C2 -1, C4ECC Ol -54.4€
6511%.0000174.8350 =6.14280 00 ~1.159AC Cl =4.5481D 00 =3.5£70C €0 -1.41730 €l =-:5.°?
70137.5C0C174.A350 —1. 19130 01l =1.712C0 (L 1.01030 Ol -4.083200 €0 +2:4549C UL\ "37.17
71 12.5006191.5000 9,97540-C2 4.£§720-(2 1.43750~Cl 2.19%:0-Cl -7-2761E=¢2 39.Eu
12 35.CC0C191.5000 1.87470-01 =7.17970~C2 4.30681D-02 2.CiCCD-Cl -B.€2310-C2 12.97
73 55.0C00191.5000 —1.48320-01 =7.47510-(¢3 =1.25830-01 6.625/0-C2 -2.2210C~-01 =-59.¢é:2
74 75.0C00191.%000 =1.04&RD €0 = Z7.07€SN=(Cl =-2.66330-CL -2.03%8C~Cl -1.130SC CO -72.41
15 $£.0C00191.5000 =2.93230 00 1.%4€SC CO -3.03€00-01 1.46750 €0 -2.55221) () —@¢.0°
76115.0000151.5000 -5.65360 00 =1.S54PC Cl =8.75990 00 =-4.54050 €O -<2.4641L 01 -3C.27
77137.5000191.5000 -5.53800 00 -1.%4210 (1 7.37C50 CO -1.S1%70 €O —i.S444C Ol 28R.€2



oy e
it 3ﬁu;1 L

T} w— e

NP, MUmMeEER "nx

=~C.l1&c71Th 0O
=L.1420C320 acC

: -C.ISFTTS30 20
‘ =C.1570as0D 2C
5 =0.1f72l1eC OO
" =-G.1523330C 90
i =C. 151730718 a0
| : -0.15105710 °T
| 5 =6.10%1277D 00
| e -2.5121 036001
| 11 ~C.9£570°9D=0]
te =0.11020+50 20
12 -C.116C8580 00
L4 =0.1lLE%4TTD no
15 | =g.ll%3070C 30
1€ -€. 11952520 00

11 t-a
i -C.53982590-01
Le ~0.64158%50-01
20 ~G.74833440-401
[ b4 ~C.32969600-01
e g -0.37365940-91
22 =C.25157740=-q
T =C.29874440-01
23 ~0.36 552040-01
¢ -€.J2177620=01
27 =0.40955450=01
2 -0.+3608370-0
29 —-C.25236290-01
v+ 30 -G.595TT270-01
3l ~0.51358690~0 |
! iz -L.4LB9STTD-01
! 32 =0.27¢84<88D=-qa1
34 ~3.23686770-01
2 =C.22E1550D=01
36 -4.26058220-01
37 -0.297531%0—0 |
2 =€.32215900~01
| 3% =0.1295227n~a1
49 =0.3253&A3C=01

=C.12010140-0]
=0.dE3r9130-72

43 =C.l%40014C=-0 7
Ll =C.d0LL5%G20~-02
4t -4-3%€33100-172
b ] =0.104749%90-71
41 =C.58145930-02
— T=CsElraigEp-02- —
e 1-81E438RC-CT
e D:7A L1499 Ip-q
st 0. l04Z499D=q
{ 5z Ci75EE330C-032
| €2 0.3011%020-92
j = 54 32 14a800L40-G2
3 Q-8R 259(30=-92
se 0-120191%0=-0
18] £-122348%0-q1
= 58 £-32552270-01
15 0.32219900~01
30 PEPAREETS [ | ot
51 3.26C78220~11
T 8.22016%00=01 "
42 t.23)686.770—-01
[ 34~ T d.lTtsssep-a)
H 4 N.518A99T0=-a1
e P C.4L35A890-91
sl .. 0.39317210-01
58 3.5523¢290-0 ==
L4 l-%8¢08370-01
1] G-4S5S8450D=01
TV Cel2UTTs2c-a1
1 £.36 55204C=-91
-1 73 l.d587444p=01
T 1 2.89197740=1
H € C-273L5%940-0
1 i €.J2859600-0
i m C.i14023460=-1]
: 18 {.E8 1R 00-g
e L. 53584550~41
ia 3.0
1 1.11932520 ao
3z t.LLs3cies g0
i a: g.ll224r7C 90
i as g.lls0as8c ac
12 C-11020490 ag
je =-74570990=-0
37 2.7 T10360=a1
ge £.10512770 ac
ag 9.13103710 a¢
T a.1%17I01!C 40
. 8 | $-151313g0 oc
22 31.19521140 ao
5 2.157T0440C 30
34 C.i3877330 g0
g U-is200320 o0
e C.llbs71C no

-+ 1lB&naC 20
JP1REran g
- 12670710 90
-dCA2¢€850 30

R T PR

3.20814220 20
SlEFREITIC ON
T-dFTise D JrC
Q-:8114440 20
J.4484 1340 QO
t-llekcssp 0g
8.201R2%%D no
0.3%22<290 Q0
-= 20183650 g0
Ca.l26£557D a0
5-.1228C030 OO
C.4€52152D o0
TLATILITWD QO
G.lssers D 0O
2-3C55(7ED oo
L.c122%53D g¢
€.2078 1530 00
L-lsE2 1190 0O
G.1i%%¢44p 2C
1.7 YEc4nep 0o
L.4C%52990 ago
C=22£%'910 20
9.1927%920 g0
d2%157940 a0
S-iCe2834p co
C.lt2ScQ0T10 0D
=i2%5 3680 00
. 4070C9T gg
2.283347950 g0
J- 31&4%« 491D ng
TaiFtoiem ch
T1.2%¢S794D0 00
2.20514520 00
T-1€22:270 3cC
2.124«4010 QO
3.20243520 00
£=31129910 o0
J.1T2¢42¢D 0O
J-28%A 1110 0O
Z=2153)¢%80 oo
S-1947€240 30
2-1%#5439C oo

sSIiZtl2rme-qgo-

<35 1A a0
$C11n3C oo
22122C0 00
=7TYveren T
«£3C0FL2D 0D
-LFA2ELRO QO
-l4%481%10 o
1122<7\w0 ao
24%3 0 QO
ColIT2% v “au
1-11426920 00

[

LA I BT W

Pt iAo 1o
<-i210f010 co
d.11146% 10 a0
3.1254%450 DO
.5652%1CN=G1L
2.2532%94% oo
3.is§9e310 on
s-21C8LeSH QC
2.ik%ec5cD oo
1.21¢15500 00
Z.1%¢979 1 go
2.1C€73¢~40 a0
c. ].LQ&-} ]B_ni
C.IS12ES%50 0o
Q.24fs 2240 Qg
0.2063110 ao
l.ét44851D gp
C.211%5e%0 o0
S.1%02¢R10 QU
C.54301250=-01
To4T1E%an=q
-15412¢00 Qo0
C.14827510 20
f.:it50%1 c¢

(=1

~dbesiieD 0o
t-2120%09n oo
S.14221'm g
1.cE201010-01
{.d211181p-01
°. JS47L8CD CC
n.14%0e%70 ao
d-10€822tn ap
tesmnSiS54D CC
G.:iz242%n ac
G-1%GIZ%20 0o

G.4=CH IAQED=Q}




74

(M) W B3, § = 1667

U T LA L TR Rt A LY E O e
LE.900C 1£.€6AD = b, d%sab Wi =1y 0oLl S TRIN0 B0 =k k3TIE=CL ctoebtiL €]
¥4,060C IC.CC00 -%.35100 Fu . EE8TOE €1 =l.48330 £0 =), 81012 &0 el.cedel 11

. a 1 R ILIES

1

2

1 1%.060¢ 1e.¢c0a 4. 131%0=U1 €.ETPT1C-C) =3a.%5010-01 ALl iEC=C1 =loentP0=01 =5s.t"
Ll

]

.nt

19,0008 16,0000 2.01130-CL 2300001 f.an2an-02  3.20020-C1 =2 AN anL=0l
93,6CCC 16.0000 3.13130-01  (.fasen-0) fopsdan=gl  f.1CRU=CL =f.itEdt-ed
§119.0000 10,0000 I 91¢i0-90 T T P T P I L L T [ TR LR A Al
1131.4¢0¢ 16,0000 1.22170-01 t.fa01C-02  l.assiu-atl Folbitu=C) =tadbieC-a7
Bo13.0C0C MC.03I0 -6.93290 Ay =1.8t1CC €1 6,230%0 W Y- PR T
9 33.0000 10.81%0 =}.201%0 CO S 1.CCtID €L 2. 83800 (€ =2.39020 €1 -l.usest
|G 3%.0000 10,8370 -4.34450 03 SaLERIAC €0 -1.38120 €O =4.5CMI0-C) -T.2kEL o8
11 Te.ECCC 10,8330 =1.33740 00 e 12708001 =1.32%00 00 -l.ewtiC-04 =2.1%
17 93.0C0C J0.8330 -1.24080 €0 <1, 8882001 =0, 738R0=CL =1 FIARC-CL =d.4
13119.0000 10.8)%0 =+, 1AA2O-01 1.5308C-C1  2.47820=C) ~1.50ik0=CL st TbRAL=CL
14107, 900¢ 161295 =s.81290-0d  J.eCliC=C1 1.69110-01 D 24%a0=01L =1 22e2C=01
13 12,3000 40000 1L, 01980 01 =1.4%00C O ~p FPURN £O =9.19%%0 € -t.990e0 Ol
14 3%.000C 42,3340 A4 1030 00 =1.0020C (0 =3,40810 €O =2.%)82%0 (0 5.
§7 99.€60C #8.2)%0 =) Feln0 00 =48 3. 19%10 QU -1.9689C=01 =€.9.260 W
T 19.6€6C s8.1)30 =), 1asd0 €0 - i. 10 (G -2 79000 €0 F.CRALL-CL -3.4BQUL U
I§ 94,0000 44.)390 =l.ulnlC CO —1LCeTRC £ —1.t8400 €O 6.U3C2U-C2 ~.SEAIL WU
JeLLt.0CEC 4R 1000 -4, 003001 =#. PL2ACSCN el d 380001 =he AT IC-CL =110 oy
2131, 0080 AEL)030 - LO98An=01  i.fSelO=tl “f 70090=07 P 03MQ0-C1 <20 =g
47 11.%c0C &4,.n000 ~f.s33e0 00 =1.0P020 1 =7.%94%0 00 =l beito=CL =1 00200 (3}
JL03C 83.CEND =), 44810 0O =F.IPrAL €O 482760 00 =i.80RaC-€1 =l ltn00 VL
$9.C000 =2.10400 00 = &.S1(4C (0 <4, 280100 €0 4.00890-CL -B8.)514C M
s $3.0000 =2.87030 oW LLYEE €0 =2 02450 €0 4, 1500=C1 -2 tull O
- 78 9%.0C00 &% —i.10M00 00 -1.59120 €0 =2.18830 €0 S.u1fic-Cl -4 ToAe M
FRRTE Y -1+ .Sk 180-01 = 1.3GCAC (U =1.13000 00 2.7Liic-@1 ~2.ndeln tu
28137.9608 $1.0000 ~ 1. 121e0-CL = 1o§717CF=01 =4, 1EAJU=EL / 2J12000- (1 =L, 25ccl=r1

1% 12.3¢0¢0 -2.93040-01 -¢.6210C €0 .S LAY PO =80 LH0=-T0 <L 21800 WY
1€ 3f.cc0f -1.0V130 02 =i.017010 (0 -¥.d0t20 00 1AL jeC<C) -3.533%0 70 .
n EL0C ~j.Tuno O Apeelr 0 =40 31880 €0 eS8 iakod0 -2,71820
12 1:.0CC0 -1.31560 G0 ceaiC £9-=%.% 1420 )00 T Zdikn <0 =k, 01T5C LU
1y st.cc0d —1.21410 0u = 1.0)24C (0-=1.05)90/00 twdalil €} -8, 88916 LU

Iajrd.cece b A 12I0-CL = 5. YPTT0 tu~T.0le% E5 YoLn s 0=t =dontisnt 1
3513 1.9¢GC 8%.0C00 el osBUR-01 =1 0882040 o AACeN=CL FealTSO=CL -t 28U LG
te 12.%c0€1C*.CC00 -4, B1080=-02 =3.53C70 L =L 25400 00 * (L T0eNL-BL -k, 185eC L0
11 3t.CCCCigd.0g0 -4, 24970-01 = 1. 0478070 S3or¥1%0 €3 L.C240 (0 830210 ne
€Coci0t,0900 -A.23030=01 =*. IS0 €0 <A OACSD 00 1. T1AED fO =1.28010 CU
¢Lceict.CCco =5, 13080-01 —u, a121C/00 /4. ga230000 L. TOCIC 0 =T teeill v
ccocioy.ceeo =1, 122e0=Cl Sv.52160 (0 SN RNEEN T LonddeL fQ -6.r800C ©
ctog104.0000 -4, 1J080-01 =P a020 fo A1iatian a0d 9.80 0400l ne. M L2ED L0
cocies.CLGo ~1.03710-08 -1,4%110/C0/-9,9)2%0-0L =3 15230 CU
S(oC129.0C00 -5.8019D=02 —4.C55L0 (0 =1 11420 60 -4 39370 1
oh 35.0000128.6300 -1.59%90-01 —4, 09020 €0 -1/80%¢n CO -#, 81530 €4
4% 39.CCC0024.CEED -1, §e990-ul ). 14 ¢RD 00, =n.t4anl D
44 1t.CCCCL23.00C00 -1.21040-01 -4, 01360 €O <P 1st M =12.00
! %%.0000125.0000 =4, qenIg-0L ~3.05E80 €O L.E2450 LD -t.Efsel (C =-!C.EC

apllf.coo0L2t.CL00 =2.99%20=01 -J.00%80 0O ~9,512C GO =L, "
<4 WSTE U =laat)
-1,00710-01 =7.44210 €O -5.%1i80-51 2.€%210 LU =100

49137.500C113.0600 =&, E3150-C2 ~4L 080 LU -1 L2220 L0
3 oi. 1nu0-d1 = 1. 41700 L - eNTeDTon S RTTI0EL 4. Pi2 E €1 —is.ti

2 OCOCIA.E680 — 1. 123an=0L - 2. 42140 (O =NahiAIN E0. L. AQReL €O -4.tutvL €0 -22.21
4} 14.00004A%.0c00 =1, 12080-00 =4.41570 (=t Db 30 b0 he 1OC 10 40 =7 R4£1C w2 = L)

el $& §4.000014%.0000 -8.21030-01 5. tLLE £ ~L0IOYD OO 1% li00 Ly = l.2S210 VU =101 i
AT 11 14) ot 14ST0-04 = %e BTIAEAQI= D, A RSO0 L ATNIE Cu P Jgdin L =isatt i
salyf.tg0ed hL310A0-08 = . AE0ID 10 ~ 1. 73400 (C T I0LCL-EL SEARSCE € =LLE H

Lo 41 12.3C001p%.0000 ~1.4bA00-0L = holesil & loblOhdmul 2l Allii=gl edetiiig O =ie, e

t4 3i.ccaciet. 0000 A, 47710-0L[=3-1C2IC L0 2. 0185000 Ty 1RG0t =)k IsL €U -1h.E4

39 35.6C00189.0000 =1, 21810 COO= 2LLYFLL 4G -1, G390 (O L CE I U A4, E" 10 L =) Tl
~ 3 $0 14.CfECIAT.0000 ~1.8)40 90 -)§34IT €3 -1.91470 0O {28 100 D=t 117U C) =20, 1 s
. el Se.CrCC18%.€C00 — 1. 70870 CO +8.81400CO. 8. 3195C Ly 13240 (U oV 19EC 1D - 3
S2113.060018%.0000 ~1.01110 €y =FH7¢10 (o ~JenTI07LN T.t21en-0L =A.93t0 L0

- ¢3117.%0E¢C1e 4, 0000 «2.97040-01 =8.02100 €y =1.51600 00 =%.saCH0-C) 1eic <o
¢d 1i.0C0CIR.C000 =2 1$7e0-€1 =1, 8022¢E- (L -4.18820-08 Z2.02030-51
£ 34.0005102.9000 <A 180-01 =1.3004C €0 =1.3duil 00 dedlasp=£1
- b tt.conciet.olco -1 rogen S0 =1. 68220 (0 =2.34%50 00 5.038aC-01 =4, 20M4C T
&7 714.000519%,0C00 -2,47130 €0 =1.110eC (0 ~3,49550 CC 8. 081SC-CL - L1620 WU
&8 $2.0CO018%.0000 «].98400 M) -4,28130 00 .30%8%0-CL 2140 €3
~ tSL1e.CC0C 03,0000 -1.44£10 €O -k 02280 DU =h.sALGU-CL =1. 4150l i

1013 7.500C199.0000 ~1. 44240 €0 = 1.00420 €1 =1.59550 (0 ~ L EREIDRET =L, LERIE W
4 11 12.9€CG2C1.0e%0 -2.049580-01 2.%9e10-CL ~Me 18 190=-02 2.15850-C1 =F. 2 ach-C0
o) 12 ¥t.CCCCICH. £E30 -8, 80190-01 =¢.¥12C0=CL ~4.29830-01 -1- 07 120-CL -1.3835C (4
13 $4.0000200.te%0 =1.87910 €0 CAISC (0 =1.48a)) CO 4.C0C23-02 =2.5e%10 70
e 14 18.0C03201. 8850 =Y. lsal0 00 V230 (O =2.75780 0O 7.034%0-01 =%, +41UC o
o 1% §1.CL0CI0N.E030 =2, 78240 0O —4.edtlL LU =3, 794870 v =3.38850-C1
76119.00002001.£830 4,918 00 = ). 015P0 €0 -1.43810 g =2.a30%C €
17137.9000201.6650 =4,019%0 81 =1.4501C €1 ~+.22¢80 €O =3,7255C L2
- 18 17.°000:1%.1¢508 -5.01200-02 JoecCIC-C1 aL l.dudaledl
19 33.0C0C719.1¢30 s, IpaZ0-Cf =l S2CO-CL 1.4078s =1 =1.82 1 4c=Ci
= L1 ceooll ey =1.2~0A0 OU -1.95€¢C=CL =s.125AD-C1 =1, E3eeg=C1
[ AL 1f.0C0LE19. 0000 =2.9%0%0 QU =1,22%P(-0C1 -1.32500 00 =t.dunsl-C2
17 %3.C000219.16%0 —a. 384490 00 -'.€2090 (0 - L4e320 [0 =b.5CT10-CL =T.un2ll (]
€1115.000021%,18%0 -3.20130 00 =-f.,00%2C EV S0 00 =2.7%620 (O -l.Chuel G
o IS ISR -5, 94310 00 =1.4%800 CL B5.250%0 un =).hu800 €V =l.Fin3l C1
4% 12.9000240.0000 f.2dm=01  t.38000-02 L.8580=C1 2. M1aIR=80 T Al Sl
fEeeis0.0000 3.91810=-01 =¢.+A%2C-C) 2. 388a0-01 V.90 EM0-C) U0l
5] L3 cgoc2ag.0c00 $,12930-00 K. MAEC-0D L.84250=01 .1 0000=0G1 R SIS AR T
sa 14.8800240,0000 1.0)040=01 =i, 321001 S.4k260-02 J.i01)C-fL =3.h5050=01 5.10

(9 59.6C00240.0000 =a.ltiu=ul teu geul =deshudu-vl  wedbifueil T 047 i ]
- SOLLY.EERC24C. 0000 =% 19100 00 =l.& £ €1 =1.94930 00 =1.0La70 €) =l.Chatl er =it .0l
AT EATLATAAIAC,CANG =1L 1nANA £ = 1L ITIIR 1L M1 £R =ALITHIE=EL 1L EESEL L 2.0




75

(A) WS BA3, B = 1.667 |

=, 01" %80 93
gL AN Sd
=§ ivMlanlE 2
9. s Ninell 3

(ERATLTL ML) f.dfimaiiat c@
t. '1(1!(: 0t

Y I{RIR -]
sgoiiaritan 84

fEesi 10 99
eCirpco ¢¢
agriien @2

watatineat
WaE

E.itinieia g2
t.uu-ut i8
as

ttn Ofv .
l.;u\!(ll

EETLILTET
=t ieabinsaegl
TR ATaty ALl

- e . sd lInniapi-ny 4 ‘lﬂllll.
at =t 180 E= AYOLL]
TR R ) 1' (LA RIR LA
seLadnivInc-ag e g
1w a e dsan
trisa=ey TERAALE L L L
-e Rt LSS LN -
LA L ] L3 gring an .
] Coithizie ae
LRI k] LA ]
prenpra-at Wodaphning 8y *

‘ 1*E31ie0 B0

it e

[RFLETIAY B | R .

Wi HEV {100 0a

Eliania we
.

PO TR AT
t.203130%8 oo
Coitttenin €o

dieetlan-uy
LRE IR ]
Eodltaving=qi

.
L e l!l‘?ﬂ‘l‘

Jivlprven ga
BARALATU ] ]
i1

.

Nt wa

€.iegraden 38
6. i9daeiig Bn
v'x;\-a 0
cg-a1
mu 2
PRI e
£.000T0100 B0
€.400L0000 B9
.

-0

[ ELITLL

FoiaAraase
CURTSY ]




EL.NC. ] ¥ I-STRESS T=STRESS EY=STRESS MAB=ST4ESS  MIN=31PL S5 ShGLL
17,3000 12.5000 =2. 17130 Q0 = 1. 35690 €1 S.560iah 0U 2. 32 00C=02 =l.eiesl 01 20.4C

1 32.000C 17.9000 =3.54500 €0 = ). £41°C €1 =7.59430 €C =i B8 120=C2 =1.55330 C1 =;4.A1
3 22.0C00 12.5000 =4.09740=-02 =T1.%¢T70=C| =n.0O890-0] JotS5CL0=C1 =1.J%000 Cib =31, 2(
4 7%.0CCC 12.7C00 A 20840=C1 =1.CDFIP=C1 2.3949C-01 4.8550C=01 =1.92270-N1 (1.5
§ 9%.0000 12,5000 @8.153160-C1 =7, %€250=02 4.083190-Cl1 S.7852C=Cl =1.5C35C=Cl 22.C?
CO00 12.2000 5.10030=01 2.APAT[(=C? &.13S90-01 1.50680-Cl =2.822IC-01 IC.1¢
| 1.7824P=C1  2.31320-01 3.93400-Cl =7.00Z6C=N2 &r. ¢

=1.475SD 1 4.46384D0 €O =3, 14€1C CO =l.te&lC O 21.1¢
0000 37.5000 -2.19820 0O =1-0083C €1 ~1.%95%0 00 = 1.E81%0 €O =1.02%70 Ci =4).Ct
£L.CCCC 37.3000 =3.76800 00 ~4. ¢SSFC (0 =3.23760 00 ~{.03120 €0 =7.4205C 00 -4C.Ct
Il 75.0600 17-5000 =2.43690 €O = |.2C2¢D (0 =1.23100 €C =5.C582C=C1 =3.730FC OU =27,

T 7T 12 ss.00C0 37.85000 =1.24390 00 =f.CHELC=C1 =2.65%)0-0) =4.3i€50-C1 =1.22%40 00 =15.C0
J211%.0CCC 37.3000 =4. §E€50~01 2.00400-01 =1.2703C-62 =5.8125C=01 £1.1%
14137.5¢0€737.5000 7= 1. 07330-01 2.53200-C1  A.CTE40=Cl =1.970%5C=01 70.45

15 12.%C0C 37.%5000 =A. 36640 00 =£.57200 00 -5.1US4D €0 -1.78%80 €l =20.1}

TTOTT O Tt t.ocof %1.%000 =4.83200 00 =2.E8580 00 =2.R141C CO =-5.2282C CcC =32.CY "
17 55.0000 57.5000 -3.1278D €O -* 2I110 (C =3.11260 €O =A.58C40=Cl «7.4554C CU =2%,7¢ \
TTT T 7T U1E 7%.0C0C $7.50007 =2.T6740 00 ~i.T35SC €O -2.50460 CO =2.4EE830-C1 =%.7%5&10 CO - It
IS 92.CC0C 27.2C00 =1.79310 00 =1.28CCC €O =1.31210 00 =1.53¢2C~01 =2.072¢C OU =-%C.*2
. i0112.0000 37.3000 =0.74210-01 =%.32(8D~C] =%, 047€0-C1 =1.7C390=C1 =1.27GIC 00 =54.0%

21137.500C 57.5000 =2.23230-01 £.28270=C1 =%, 27€00-C2 £.11220=Cl =2.26460=Cl =£¢. 47
12.300C 72.3C00°=1. 26840 00 =1, 17580 (1 =-2.41120 00 =7.40870=Q1 =1.7383C CL =4z.2"
0COC0 72.25C00 =13.23570 CO =~¢.%¢C4D (C =4.30080 CC ~£.39520=C1 =1,0¥%&C Ol =35.17
0C00 72.5000 -2.73170 00 =%.32EC0 (D =3.57%80 00 =2.i%720=C1 =7.834CC 00 =-2%.C:
. CCOC 72,5600 ~2.21390 00 =2,4378C €0 =2.93320 OU [.70%3C=Cl =$.9273C 00 -2S.11
== 16 ©2.00C0 72.5000 =1.5824C 00 =7.0679C CU =2.00170 €O Z.C2150-Cl =2.£27%0 CC =&1.73
“7112.0C00 72.5000 =€.18020-01 =1.0630C ON =1.10450 00 1.7025C~Cl =2.0%Z:C €O =41.¢°
FB137.5C0C T7.5000 ~2.03110=C1  2.29%40=(| =2.36410-Cl 4.5828C~Cl =3.[3520~01 ~£&.14
29 12.5C00 90.0000 =&.13980-01 =S.48%6C CO =1.45%70 00 = 1. £5¢80=Cl =S.£5350 CO ~-E.51
f.00CC 9C.0C00 =1.20160 00 =7.52%6C CO =3.45650 00 Z.57¢40=Cl =S,I00SC OO =37.F¢
CCCC §C.0C00 =1.70070 00 =4.77(20 €D =2, 78480 CO S.&1¢3C=Cl =8.C)726C OU -20.87
37 75,0000 9C.C000 =1.54810 00 -4.08440 (0 =3.3040D 00 To224G0=01 =4,33450 GO0 =-)&. &)
¥3 23.CCCC SC.CO000 =1.13940 00 »2.B823C9C 00 ~2.56280 00 $.58¢3C-Cl =4.Le4FD CC =25, EC
24115.CCCC SC.0000 ~6. 16#T0=0L =1.4C2I0 00 ~1.66270 00 5.554LC-CL =7.97%4C 0O =28, )¢
35137.5C0C 90.0000 =1.6e960-00 =2.84P20=C1 =£.?8%8D=01 7,57500=C1 =S.C5480-01 —40.0*
36 1Z.%0CCHIC.CC00 =9,39390-02 =1.112C 0N =4 013070 €O 7,3041C=C2 =1.6154C CO =f.4f
17 31.CROCI10.0000 =4, OB20=01 ~(.£1%40 (O =2.74910 00 b.08C0C-ClL =7.51420 0N =;0.77
38 55.C00C110.0000 =7.48290=01 =*.7CCIC CO =3.54450 00 1.10140 CU =1.%456C CO =37.%¢
3% 71.CC0001C.CC00 =A.48410-01 ~4.56C6C CO =3.48060 OU |.i42CC CO ~#.4475C €O =2€.¢¢
40 F1.CCOCINC.CCO0 =6:65470-0) 2. 4C¢1C €0 =2.92780 09 |.1J68C C1 =5.%QGBRIL 09 =3].e4
~41115.€C00110.0000 =3.46060=01 =i, 72080 (0 ~2.082%0 00 3.44E6C=CL =2.54L7C CU =30.33
. 42131.5€0C110.0000 =5.99320-02 €0 =-A.468TD=01 §.9750C-C1 -1.5C7%0 €O =%, 0+
43 12,5C0C13C.CC00 =2, 90830-02 10 =l.us3ap 00 =£.03§5C Ov -5.p*
44 3%.0000130.C000 =1.47310-01 fu -2.577aD cn -, 735CC
4% £2.CC0013C.0000 =3.19300-01 ~£.3222C €O =-3.34 140 0U ~t.556K0
46 73.CC0Q130.0C00 =4.01680-0] =4.75450 (0 -3.495)0 wu =t.7262C
47 95.0000130.6000 =3.35980~01 = ¢.j€4%0 (C =3.11£50 €O -8, GE42C
4F115.CC0C130.0000 =1.P0%30-01 =3 65E5C €O =2.31£50 00 -4 Batel
49137.500C13C.CL00 ~4a 64 280~02 (4260 (0 -5.63070-01 =1.1513C
50 12.5000159C.0000 =2.1CAT0~C2 =4, 21570 &€ =1.01C20 €O =4, 54%3C

3 #1 33.00CC130.0000 =1.00&TL~01 =~4.85°7C CO =2.44180 00 t.s-lsu-t: EEPEITI
TT TUTT Bz f:.C0CC15C.CC00 =2, 10B20-C1 ~4.€206C €0 ~3.2210C 00 |.4%23C CO -6.4870C
23 75.CCCCISC.0D00 =2.42870~01 =4 230 (0 8510 €O -1.£1770 (0 -8.TIASC
§4.0000150.0000 =2.10080-01 =4.226CE €0 =3.22400 00 l.44¢'0 (0 =4, o808
112.0C0C13C.CC00 ~9.96990-07 =4.85%30 CO ~2.44610 00 9.3960C-01 -9.753¢C
131.5€0C15€.C000 =2.07670-02 =¢. 21520 €6 ~1.01270 €O 7.09840-C1 ~4.54ulC
12.5C00176.0000 =4.77860-07 =i, P8E20 [0 =5.35150=01 2,49720-C1 =2, 1%3¢0
32.0C0CHTC.C000 =1.82950-04 =2, 69¢1C €U =2.30130 00  9.63%1C-01 =4.0425C
29 32.CCOCITC.C000 =3.)8850=01 =4.7¢120 €0 ~3.11290 €O 1.)7%50 CU =3.9700C

ST 40 14.0C00170.0000 A, 034T0-01 ~4. 19170 €O ~3.45240 OO  [.S31CAD (O =&, 724C0
£l 95.0000176.0C00 =3.09780=01 =%5,32C5C 00 =3.34%30 €O 1.J8€1L CO ~t.¥5&LC
£2115.0C0C170.0000 =1.47170~C1 12560 (0 =2.87¢70. 00 0.393570-C1 =6.7423C

=~ 43131,3%00€170.0000 ~2.49920-02 EL1I0 €O =1.04600 OO0 1.%3%10-C1 =-£.CA310

) €4 13, 8CCCISC.CC00 =1.01£00=01 =1.%140C CO =6.41300-01 1.507EC-Cl =1.5084C

€3 32,CC0019€.0000 =3.71130=0) =7.72¢%0 (0 =2.07%40 €0 E.JTA8C-CL ~3.5381C
66 35.00C0190.0000 ~4,70380-01 =3,.59£C0 €O =2.92400 00 1.134CU €O =9.4C240
7 72.0C0CI5C.CC00 ~8.456330~01 =4.5530 CO =).48400 00 1.24¢30 €O =t.&4480
€8 93.0C0C19C.C000 =7.47870~01 ~5.¢572%0 €0 =3.557C0 CO 1.1C¢AD €O =-7.5518C 00
6911%.0000190.0000 =4, 10070=01 -E.AJEA0 CO =2.04540 00 -1.91820 co
10137, 50CC1I9C.£C00 =9.92680-02 =1.91TIC €O =1.13370 OO =1.6861C 00
TL 12.9C0C21C.0000 =1.71410-01 =4.C1730=C1 =¢, 14LT0=C1 9. 1194C=01
T2 32.GCOC21C-0000 =5.24040-01 = 1. 19480 €O ={.4%330 00 =2.%8000 €0 -1%. @t
11 f2.CCCCIIC.CCO00 =1, 44480 00 =2.R144C 00 =2.34410 00 A.5957C-C1 -4.£520 c0 =1%.%
T4 72.0C0021C.CC00 ~ 1. 54460 00 =4.C4%6D €0 -3.31300 00 1.4503C-01 =6.33530 00 =24.4¢

. 75 95.0000210.0000 -1.59450 00 =3.7TAS2C €D =2.75030 00 *.29610-CL -€.CI%50 €O -G, £¢
Te112.COCC21C.CCO0 ~1.19910 00 =7.9327C 00 =3.45970 O0 2.81610-Cl =5, 19340 00 — 3. £
17137.500021C. 0000 =4. 13260-C1 =5.47370 (0 =1.45690 00 =1,.84 16C-Cl =5$.7022C 00 =-5.9]

. 78 12.3008327.5C00 =2.20410-01 1.11770=Cl =3.18%4N=C1 A.£0%%C~Cl =1,86420~C1 —&4.57
75 12.0000227.9C00 =0.4Q0770-01L =1.040IC CO =1.0%80 a0 Ta8QENE=C1 =J2.041L0 .00 =47, s¢

T 7T RD TRLOCOCI27.3000 -1.38830 €O -7.01720 (0 =2.02070 00 2.50330-01 =3.0256C 00 -4j.21
' 01 72.0000727.5000 ~2.20030 00 =1.434C0 (0 =2.94130 00 |.28C0C-Cl =£.822%C OU =35.0¢
t2 9%.0C00227.2000 =2.723%0 00 ~9.3293C €O ~3.57880 00 =2.1715C-Cl =1.23450 €O =2¢.¢¢
#311%,0C0€227. 5000 =3, 23460 00 = (.363C0 €0 =4.30150 00 =A.)7760-ClL =(.C536C Ol =29.1¢C
£4137.5000221.3C00 =1.26730 €0 = 1. 17440 €| =2.41100 00 =1.40C3C-C| =1.2252C 01 ~=12.34

83 12.5000242.5000 =3.92760=01 4.09270=C1 =4.59C90-0) $.252%0-Cl =1.5219C-01 -u§.1?

i Bt 33.0000242.9000 =4.71100=C1 =%.51260-00 ~0.TLEL0-CZ =1.21070 QU =*2.%¢C

- B fr.0C0C242.%¢C00 =1.2732C (0 =1.32120 00 -1.70i5C=01 =2.8%59C CO -*C.i*
88 75.0000242.3000 =2, 74890 CO -37.12490 €0 =7.50450 €0 =2.36510-Cl =5.2488C 00

€9 93.0000242.2000 =3,12600 00 =3.3210C €O -3.11130 00 =8.91540-CL ~7.447C0 QU

= T §0112.0000242. 2000 =4,4179D 00 =7.4294C €O -2.88330 00 -2.8147C CO =9.728%0 0O
* §1137.5000242.2000 ~8.35580 00 = ). 4¢%C0 (1 =95.57C4D CO -3.10210 €0 =1./903C a1
T T 9277T.2300282.3000 =2.29790-03 E.%821C0-Cl 3.03330-01 §.33%A0-Cl =9.58850-02
o) §3 15.0C00762.%000 ~4.84000-01 $.2085C-() 2.78230-01 |.3)423C-Cl =4.0985C-01
S4 53.0C00763.5000 =1.23740 €0 = 4. §12€0~C1 ~7.42%30-C1 =4.19230=C1 =|.3047C 00

§5 72.0000262.5000 -2.42840 00 =1.30C2C €O =1.228%0 00 =%.12400-CL -2.71810 Q0

g §¢ §2.0000282.2C00 =3. 76420 00 -4.5029C 09 =3.23020 00 -1.0%25C €O -7.861380 09
2 $711£.000C262.3000 =2.19710 €0 =1.CC4T0 (1 =1.59420 CO =|,£9580 €O =1.00%9¢C a0l
CTTTUTTITTTOSE137.5000262.5000 ~4.00900 00 - 1.48040 €1 4.66110 00 =1, 1440 (0 =l.50820 01
S €5 12.200C281.2C00 1.53790-01 1.7053C=01 2.764%0-01 4.3054C=0L =1.14220-01
"“"“""IOQ 32.0C0C287.5000 4.75480-01 1.25370-C2 3.46050-01 4.80°40-Cl =1.T1%6C=01

- 101 35.0000237.:000 1.89790-01 1.1020C=C)  J.90EUD-Cl §. ¢fB0-C1 =1.c018C=C1
162 T:.CCOCIAT.CO0 H.02M80-0L =3.07¢4(=Cl 7.43%00-01 E.54%9C=CL =1.74%C=-01
103 92.0000207.5C00 =5.98F20=02 =7.%%120=C1 =6.74410-01 3.50Ce0=-Cl =l.1667C 00
- 10ALLZ.CC00287.5000 =3.%2390 00 =1.¢404C (1 =7.%9C10 0O =1.06290=C2 =1.59370 Ct
10%137.200C787.2C00 =2.17250 00 =1.3571C €1 95.54280 00 2.392sC-C1 =l.61ELC OL

TN
15

e 0
07




(4) Ut mu,% = 2.000

- Woainen )
Hatinitain
o bain

3

1

[N e

- " R
" AR
PPy

LAl St
s

. ity
LT T
LA UL L
aireatianny

TR T




(%) UUN BW5,
FL NOV. X Y X-STRE SS
I 12.5000 12.5000 =1.23340 01
2 35,0000 12.5000 =1.07730 01}
3 55.C€C00 12.5000 =-5.93040 00
4 T5.0000 12.5000 =3.21510 O
5 95.0000 12.5000 =1.40060 O
HLI5.CCOC 12.5000 =3.74)110-01

12.5000
35,0000
15.0000
is.nna0n
35.0000
35.0C00
15.0000
35.0000
55.CCQA0
55.0C00
55.0000
65,C0C00
55.0000
55.0000
58.0C00
r5.0000
15.0000
15.0000
15.0000
15.0000
1£.0000
15.0000
95.0000
95,0000
95.0000
95.0000
S$5.0C00

7137.5000
B 12.5000
a 3E_CCOC
10 55,0000
11 15.CC00
12 SE.CCOC
13115.0000
14137.5000
15 1Z2.F00¢C
16 35.0000
IT £5,0C00
18 75.0C00
19 95.0000
20115.0000
21137.560¢
2?2 t2.5000
23 35.Cc00
24 BE_CCOO
2% 71%.0C00
26 95.0C00
2711¢.CC00
2B137.500¢C
29 12.5C00
20 A%, CCOG
31 55.CCOC
32 15.CC00
33 95.CcCOC
34115.0000 95.0G00
25137.5000 95.0000
36 12.5000115.0000
27 35.CO000)L%.0CN0
38 55.CC0C11%.C000
32 75.0000115.0000
40 9f,0000115.0000
41115.0000115.0000
42137.5000115.0000
43 12.5C00137.5000
44 35.0000137.5000
45 55.0000137.5000
/ a6 15.0CN0137.5000
47 95.0000137.5000
400115.0000137.5000
45137.5000137.5000

=2.9235D=-02
-1.04720 01
=hH.049950 00
-6.32540 00
—4,2¢010 WO
=2.0224D) CO
-l. 16040 00
=2.0450D=-01
=2.53060=-01
=3.43091) O
-3.8235D VO
=3.67610 00
=2.4200D 00
-1l.22140 00
=-2.44210-01
=M. 76520~ 1)
=L.22390 00
=2.746410 O
=3.179410 Do
=2.74640 (0
=-1.2¢739n o
-3.7652D=-01
-2.64210-01
-1.22140 00
=2.49C0410 00
=3.3761D 00
=-3.02350 0o
=3.43090 00
—2.5306D-01
—2.LC508D-01
=1 16040 00
=2.5224D WO
=4%.28010 00
=6.32540 0o
-G VASHD WO
=1.04720 01
—2.9235D=02
=3.714170-01
=l.40040 0O
=3.2151D 0o
=5.93040D 00
=1.0773D 01}
=1.23340 0l

Y—-SINEES
-1.23240 C1
-1.06721L Cl
-2.53C60-1(1L
-3, 7¢520-C1
~2.64210-01
-2.055R0~-C1
-2.9228=-(2
=l.0173L €1
€. 04550 (0
=3.49050 (0
=1.29200 (C0
-1.22140 w0
Sl P W e )
=-3.14118-Cl
- BUCNEAE /L
= ELA25000 /0
-3,02350) L0
=2.04041 (G
-+ 45840 (0
- 2.52740 €O
- 1. 408400 (0
- 3. MY KN
=h.26010 Lo
- 3. h76 15
= 3.17%40 (3)
~3.6T7€610 Gy
~4_ 26801 00
- L2350
-l 40841) Cv
-2.52240 04
= 2.49€E4D €0
=2.14¢4D CO
v D7 2B ~EH
—&.32%40) (0
-".93CeN Co
-3.74170=-C1
=l 1608 00
=1.22140 v
=1.2939 a0
=3.63000 (U
- L. 04850 (1)
1.07730 ¢l
=2.8235(=-n
- 2. E95EN=-C1
- 2.64210-01
-3.76520-01
=2.53CEn=-C)L
=1.06720 1]
=1.23340 01

XY-STRISS

Hn. 31220 €0
=5.9905D0 0
=2.06010 0O
=1+ 30330 CO
= 1499D-01
=3.00%9D-01

T-%3&20-02
=-5.99050 0V
=5/126501 V)
~5,7069 0O
=3.003010D W
=250 )
13T
=3.0n390-01
=2.00610 Q)
=5, THe90 G0
=5.499030 00
=5.,212610
~4.05C30 CO
=2.5603D0 W
=H.14900-01
=1.20330 00
=1 93810 v
gl g 11} 1)
. s A 0w g9
=ha. 261 BY
=3.43810 0O
- 130230110
-t. 1hs00-n01
=2.56831) )
=4.05031) 09
-%5.21250 Q9
=5.0903D 00
=5.70e90 )
=2.048610 0O
-3.04%39D0-01
=1.376L0 0o
-2.56030 Q)
=3 03810 0
=5,.70690 00
=5.720650 0Y
=5.89050 ny

T.43620=-02
=J.ud390-01
-d.148500-01
-1.30330 vo
=2.04610 00
=5.499050 01

R, 41220 01

AAK-5TRLSS
4. 02170 ¢
=f4.63000) CO
The v elo=0l

l.31100-01

l.5939)~-01
~9.00120-03

4.8121-¢2
=hH.E63000 an
—-3.22930-01

1. 00890 Cv

1.3111) co

T.714910-01

2.1510110-¢1
=2.081223-0)

e l921C-0L

L.CO5%) Cu

2.U6ET10 CO

200170 wu

1.5519n co

1.77410-01

1.59 310-01

te31100-CI

123311) v

PR R R A ]

o308 0

2.C4110 (o

1.83770 Gu

l.311du-2¢l

l. 59280-ClL

T.77141D0-01

L. 95190

2.0d110 co

2.U661L0 WO

L.00S %0 €O

e l921D-01L
-9.00120-C}

2.15190=-¢C1

1.77470-Cl

L. 33110 )

L.00%%0 Cv
-3.22%90-101
=% 61000 €O

4.51210-C2
=-J.00120U-¢C34

1. 59280~¢Cl1

L3231 1I0Dn-¢1

4.19210-01
=4%.£3000 C0
=4.02110 (v

MIN-5TRIESS
-2.0646L 01
-1.€6150 01
-6.60260 00

78

ANGL I
45.CC
-45. 12
=11.4¢

=3.7227D 00 =-¢&uy.12

=l.031%0 00
=6.34670-01
-1L.0360C-01
=1.66150 01
-1.17760 Ul
~1l. 0714660 01
=6,0916D U
=4,52130 Ov
=2.9%3606C 0V
-, 340670-01
=0h.60260 00
-1.07¢60 01
-9, 11380 00
-8.50430 00
=6.54970 00)
=-4.52130 00
-1.83190 0OV
=3.72270 00
=6.89160 00
=N.50430 v
=079 0)
-0.%2430 0
-6.d916D 0u
-3.72270 0O
=1.93150 wo
-4.5213D Q0
-6.54810 QO
-8.50430 CO
-9.71300 QU
=1.076060 01
-£.£0260 CU
=5.34670-01
=4.5%2130 00
=&.891&0 00
-1.016cD 01
=l.11760 0l
-1.6615D 01
-1.0360D-01
=~0.34670-01
-1.831$C cCoO
-3.722710 GO
=6.60260 00
=1.b60615C 01
~2.06460 01

-f:E. Sfi
=45, €1

45 .00
=hh. ¢E
=h%5.00
‘520 l2
Y <
~$2=11
=45.00
-18.0G2
-37.10¢
=A5.0L0E
=37.8%
=204
=21.20
-34,44
=hi. 4t
=45.60
—42¢.4E
=34.44
—~21.28
=21.,47
-A7.0%9
=-45.0GC
—=47,.85
=45.0L0C
-18.0z2
-40. 16
-445.CC
=521
=55, 94
-52.1%
=45.LC
=44 ,29

4%.0C
-49.81
=62.54
—-£8.1¢
=T hwB
_45. ?)

45.CC



-~

(?) HNHS. 'E = 1,000

Me P MUMBER

——
[ S

Lol o
N~

1€

—
QN m-d TN WA -

X

—C.A0R4Y4D=-01

=0.6L407060-01
—0.7413252D0-01

=0.80077L7C-01

-0.82553450=-01
-0.83080660-01
-0.82667380-01
~0.R23654H0-01
0.0
-C.26550080-01
~0.33211600-01
=0.42247820-0 1
-C.4770348D-01
-0.50572000-01
-0.51729220-01
~C.52C5567D-01
-0.16877570~01
=0.13112360-01
-0.171745506-01
=0.21610600-01
=0.26033440-01
“C.2R6533 7D-01
~0.29564599D=01
~0.29670900L~-01
=0.53607460-02

-0.40528490-07

=0.375819500-02
-0.£071B090-02
~C.8B758440-02

~0.10€73490-01

=0.1090K020-01

=C.102293ED=-01
0.10229380=-01
0.10%04020-01
C.10&73450-01
0.8879844D=-072
0.60718090-02
C.3751950D-02
0.4052849D0-02
0.53607660-02
€.29670900-01
0.29545430-0C1
0.2865337n-01
0.26033840=-01
0.21610400-01
0.17176590~-01
0.1311236D-01
0.168775/0-01
0.5209547D-01
0.51722220-01
N.50572000-01
0.4770348D=-01
0.%224702D-01
N0.33211600-01
0.26590060-01
C.0
0.8236540D-01
0.82566738D-01
0.930A0660-01
0.R255345D-01
0.80077170-01
C.7¢13252n=-01
Jetlab?0aD-01
0.60R43%740)=-01

ny
CalB3E3THD Q0
0.243515CD Q0
0.1779€040 QU
Da1407¢020 VO
C.lCT7€ €340 00
0.78IMT7350-01
N.5209557D0-01
g.214623N-UL
N.2429%%20 00
D.2169%%¢D QU
C.1EL17556D0 CO
0.1492CSALl0D 00
N.10834000 09
0.71E262750=-01
N.5172%220-01
0.2177114D0=-01
C.23C3¢h 70 00
0.Z21C37340 QU
D.1770%1 %D 00O
N.14237300 00
C.ICBLIC75D 00
0.77270C37D~01
C.56G57200D-01
0.z2184410=-01
0.2244C5%1D NO
C.2C133720 00
0.1722574D OO0
C.14007920 0O
C.LlCe3 138D 0O
C.1475CR4D-01
0.47702%AD-)1
C.21¢651720n=01
C.221G218D cCO
0.195PEL5D 00U
O.Ll6LEIALD 00
12727110 Ov
VU.1035CSAD nO
0.70327600-0U1
C.42z4782D-01
0.1818C92D0-01
0.221402560 00
C.1520130n0 ut
O.1le62 1460 00
N.1354775D0 QU
C. ICL1ESSD QU
0.6509359D0-01
€.332116CH-ul
0.12323¢21-01
0.22181380 01
C.1lSLA85HD 00
C.1653221D 00
0.13%2450D 00
0-10l4ELHD VO
0. &1E2°3&D=-01
0.265%C06L=-U1
C.5<00178N-03
NezoJL1860 Q0
B.1lS14F23D 0L
U« LARLETLD 90
C.l289216D 00
0.1027¢€4ED 0O
D.A5896570-01
[ o o

=0.52407500-04




I25|10]20l20120]£0|25|

= K‘;J (2 |2y | @ |G |@ | @9
it/ 4 i LY L 29 5b
\Element no. N Nede na.

p (M) W Ba 1 LAz 5.% = 1.000

x‘l
.,
M el ' 10 T 20 ' 20 ' 20 1 il pss! 19
A F7) —] - 13 21 A b ::3 1K _-I

o1
b o v
P | b el el ] el et el ] @ \go

( x ol L= | | Gh 169 |(88) | G2
q) A 19U in L 37 Aa 21 / A
& n i“i’lq 1—"’:-: “"—5 ('-'9% A R e ] '%'

(34) @. (1) |&% [\bb, \ON
YA

21) 2L .
_as| No82 bo| b8 bl 84

= 11 ol @ e 6 1@ ]
R CREN OR(ER[EREM (av),,| 83| () N

- L / ~ g e At [y | b{ ‘n“‘tﬁ \M5
o2 MCQH (1) {(26,[(39) 1 (49| \2 | 2550 q] =

h—

£
s

) (30 | ( (za) | o |(ss |0 [ | Qe
A L 2l 2, 20|34 4|\ gy @%s 23y | gq| \._4{.1
(1168 |20 | @y |5 | @) (a9 |G |&3) |0 |
ol ] T Y | | e —es] W2 o 2y
\ELement no. - Node no- A
(7) uu BW2, i 1.333

v

x ' 2 ' LT et 4
!Lﬁ"s 4.1 LARSALINNTENIN ( Node ) Wazmsluieadianm



81
m.
V2o Varnwlewl 26 T oo T20 T 207 2011 20 1 zo Vool srpyl 20 T
s
W o 3 i P B BT - BN B ™ R T () B BN R -1
5 1) (¢ |05, )@e) |29 |G |23 [(50 | (&Y ()| (18) | (25
| Py g nk'ib“’m \‘)Aik"m‘“'wl\“/bb O‘u@!t\’cji ‘14(')!05
el oo lele e e 2@ @
20 |2 4[@ )@ 16), | &) 13 |, @g)ﬁ @% | 0l @9
% (o' |G| 29 |3e) |z | ORIORDIORE
_?’ sl gl ¢ Eak"z".‘ Y |G| | &) ] &y L’“‘b & @tcx‘ A
2 1 | @Wles |G [Ga) |@6) |63 |Go) |Gw) 1Ge)| @) ‘
_'? A N 2 4 \‘23"? @45 \f"s‘: | ?m @'ﬂ \!_U%C% '@)‘im ®lo&
20 {(5) |Gy [@|ey (@) @D @) |G |@) |G (99| 62 |Ga)
o b \’./)*_: \[l Q-{SD \JK \-.."AE' \__/“ \m_. w L\,\b k \1% @Qb(‘é 01 Qc}/ﬂc
2 ! V(2o [iog—F3a) @@ [ e | (1) () |G Qsﬁ
- ' il ~" 4 12 gt 04'4 '\"_‘? 0| 1\%.4'|4\‘ "‘"‘55 k? 5 Q'IE""?I Q)/"}'q \\E?‘SY\ bd{d (”1% ‘@‘Qﬁ
25 |1 (2) | (a) [2))] 128 &5 |1 | &g ]ee | (62 (o) (“1_‘}) @s) ((an)
g 14 | wl Yaq /A A ba Y K| 9 lof 12
Flehyant N N\ Mode no. (4

" L

y ! (M) WY BW3, § = 1.667
w.

Paw 0 ozs Ve Tan Voo A5 Vee =00 T 20T 20 T 20 Tye T 157 25 T 25 |
. ' D B B P D G T A I 2 S B I T
: - E : Teo) Hiks ) 100 1Gs | ¢ Ga\
ol @ e (e Wea) Tt 1) 16 |60 |3 [)6s)| @) | @
21 ~ i ";,:_.,1 4w Usq. \‘)bb va| 92 40\*49&104, ~ i \Jm

|(24) @) 14 (o ) |35 162 (99) f"l-b; 23) 00)
K ) (2 (a) : __92" -2__; UAS \‘1‘51 4 ¢ \&}Jb“i @ww ~ g1, \_/'q' | i (3’ i (_} 03,
. mo s @) | 6e) |as) (e [64) [ |Ga) (o) ) 24) ol
oL @] 4o, [0 [ ®), ) 69, | @), |6, | 6O | @), G, fe) o) 1 @8 | @),
: (2 a1 (Ge |@9) [32) |Ga) y 1@ [GoLd@ [Ga) K8 [Gs) [ @s)
_1 | 4| Wy .‘.‘3;_.,_ 4 \33.;& C’b} @H 0| Chey @\195 \ L’\m ‘1} @9 ) U5
- (1) [20) [33) | (@o) o) @) |Ge). [Gs) [ez) [(#) | @ )
& ,|@, Lﬂ.\_iyﬁ &), (_4,H @w (;_.1/.@,’0 (g/;% %), (Ju el @) ik @J%
= (70 129 |6 D @) 16 16y @ |Ge) (93 @9 ] go | don
¢ \B' .| 13 &2 i \3354,7 @55 -\9% k—‘ﬂ‘,'\“ (m_/.ﬂ eyl ag \Jms e A @)m @’m%
v e (@]e]6 @ |@ |6 |6 o (@ @) gy @
s R Y I O T I e e I G I I et I
L Nt 2
(¥) WNBW 4, ﬁ = 2,000
Xy

[ ] L] '] s
gﬂ'ﬁ 4.1 UWARIAWIIN INUA 2N TULN ED0A L3




82

N

N\

i\l

- : 2 \\
iy
\

AN

=

Bt
S

"\\

MALULIIPINAN
mmm—me MUABLIIDAMAN

1. 000

L '
- =

H

(N) ‘Wi BW 1,

20 4—

u\ By
7 ~
/ N
\ _ 1 \
\\ o .l....( . ]
i / \ ” 1—
®/ 1
iy ’
' J 1
\ 9, \\!a“ _..__}
/
\_— v.”__ ”.r...l\\ M__
i " PLAE
ZalE / /
\ y
A Y 4 \

.\\ i

N N : |
NN SAS

koo
B = 1333

(9) UWNBW 2,

L

4.2 MINTSILINULIBUINMAN

nfi



83

\
\03

-

-

WAUUIIMWAN

-———- WuuNanman

-

1. 667

=al=

(R) UL BW 3,

s

—— - ——

0.5

-——

-

|

’f
.

2. 000

e

(¥) Uen BW 4,

M 4.2 MINTZIWNWUILLIINGN



B
7
v

=N A
B2

)

-\"_f_‘//

TR
NI \‘\._\ :
\\\.\\ Nl
\Q;B«‘x\
NEE

() WN Bd5,

AR

W

= 1.000

=i

L] L]
1 4.2 MINTHIWILIMILUTINEN

W L)

' -~
(1) WAULISAeNAN (Principal Tensile Stress) —————-

(2) VUL TIDAUAN (Principal Compressive Stress)—



Bl

B S

un

BW 2

WALLISIReY (AN, /mi°)

B3

sy N

(R) MINIZIWITIMUALLIY 1BBY

1M 4.3 MINTEIWIBIMIALL LN N TR AR Nods



L}

2

WALUINER (NN, /10

]
/ (1) MINTSIWIAIMAUIIEN Bl

L] L] L] L]
1 4.3 MInrwrBsMLLIIUOUNA N 1RSLIN NS



15 |

-

- e
VUAULINIREY (AN, /70)
o
1

87

\Cxy ® 3.30¢0.12 6, T

-
-

5 10 15

WmBus g (nn. /ml)

- - ¢ . a $ -
IR 4. 4 UREMUSIRIMIL U IROULA UL TSN




88

3,000}

2,000

AINATUDN (NNL)

uanIIMndeL

L 4 g r L4
i T— N Mnu) padnd sum 3

v U - v
vam 3 tnr el s Inluniead L

| l | | =
1.0 2.0 3.0 4.0 5.0 6.0  pamrImfe (L. )

(N) WN BW1, ';"‘- 1.000

. - o ’ Y - - 2
M 4.5 MWTMIIZN NN NLG AT InefTesuiieneBy



5,000 -

4,000

3,000 |-

L
WINAMND N (NN, )

2!000 —

— tamIwntnu
A 4 ¢
——— MU R ENE P

P r (4
e M3 tAT 23 0 e 203

| ] | | |

2.0 3.0 4.0 5.0 6.0 MM, )
L
(1) WN BW2, g = 1.333

L] L 4 L4

-’ ? ' - o) 2
PIRETUTT NI NUNA N NUAZAIMS |09 il ned



I
5,000 |-
>

4,000 |-
& g
&

& (2 3!000 ™
JE
el

2:000 =

»
/
1,000 |- / / UanIMNEaL
. /l ¥ e ¢
//.« e e M T2AMMUI T NE UM T
it L4 4 .
.// e MR MY U U 1863
/
/ ,-{’
| | ] | ] |
0 1.0 2.0 3.0 4.0 5.0 6.0 '

PAMT IR (3, )
(M) WNBW3, F o= 1.667

M 4.5 MWDz NI NLa AN INATesRneds



(Nn.)

UWTIINMUEN

91

A
5,000 |-
;
}f
/
/
'f
4,000 | /
i
/
i
! |
.f
/
/
/
3,000 |- / .
/
/
/
/
/ !
2,000 - 71
/
/
/
/
/
.ff!
/
/)
/
1,000 |-
LamIvnany
L4 kb v
/}/ ______ M TzuMM eI satnad sup ¥
ff & i A # r
/ e MIALATNAT L LR 100 L
/
| 1 ] 1 | l —
0 1.0 2.0 3.0 4.0 5.0 6.0 pana

nf 4.5

(V) WN B4, ¥ = 2,000
L] » v ]

e N ¢ : L - 1
POANAUTIDS SN LA NUA AT INNAImRe il neds

Timf (. )

.- W W e o



A
5.@ =
4,000 |-
__ 3,000}
&
e
‘."’..
AP
=
S
2,000}
/
/
; taniaday
1,000 7 - ¢ ¢
R ——, malszmuisaenasums
Fad L L4
e MR M3 T Ll 208
; L | L | 61 . 5

() WNBWS, F = 1,000

: - v ’ » » : . - - L -
nf 4.5 AT N U AT NUAZAINS 20N neds



93

P
A A
(nn. /TN.)
15,000 L
10,000 |
2,000 | e ufinivndey
- ¢ a e ams tes
______ nopd) Lilun oo i iie | spueniRaes San
PINDEMUIIINUNE ZULN
. r s 's & wvi - 1
—————— — Hldlunieed Luﬂ‘lszmlugaaﬁmgm (B)
thio,000 nn. /w? uesdnanaloyos(v)
(W o0.20
1 l l l s a
0 1.000 1.333 1.667 2,000

»

yﬁq 4. 6 PYMELDIZMANERH AN NUA STNEWAIWINN DM WA TBI LI NDTS



C. 300

0. 200

—

I

ok

o uanMIIVNERL

O s ’
MU TN TRENE UM T

L d L 4
— tams) mg‘rmw‘fi‘li‘lm 1984 LA
Tundadmmuiu 9,000 an. /mil
Fndnalevmasity o.2

| I__E

1. 000

1.333

: - L4
;uﬁ 4.7 MWEINIDT N

1. 667 2.000

. E:A uaz §




30

)

P

YUILWININGR (AN, /0.

)
o

a

10

95

H-.20

t

H_

H-2s

H k—3

_'E 30

] [ ] L]
B iameglimlundaimg 9,000 nn. /i
£ ora lu
waprfngnaleLes .20
H _
+ = 40
1 | : ~ 'II:_I
11 OO 1. 50 2. 00 20 m

' " L] L] i
nh 4.8 Gntnmedrianedguaznisinden
v



o (81 (Y \/ ")")‘\\
259 9NES

LSS — (]

FWIAINTAlNUIING 18
CHuLALONGKORN UNIVERSITY




eI - 2 "
n.) dogdnsuasiswmaernw ¢ wlaidunwaein

- -~ L
dyyansu

C

A

- ‘ . o
dul s =@nmanmas
17 I A28 LR Nady
Tundtinuguaesd
Tunddtimgnmesdsne
AN N8l By
NMaaNTedsne
TunddunnIm
MavanATELuNg
PG RN LR e
‘3
Tuwn 9oy
' A e
AP EURLEREIUT BN
MWLV LN DS
v v

UIINWEN

A
WA LU
W193ngh

WALLIIDANIRAN

97




Aqyya nstl

cr

ML Ingf
WLTIPN AN
y % -
WIBULIIMININIRAN AL X
' % i
WAL TIANRINITANANA LAY Y

! 4 A a A
VUALUWTN (RDULUDN MU TN UA LWL ED

WUALLT LB

L]
-

AOWWIATEN LN NDDs

- <
duls =ansnsLduanau



®

M7 LReuR
nTANILR
mM1lorsan
MM IMAEBUL SN LEN
MIA

L
nqziﬂugu
- -
A LAY
. o
A9
A an
LNYINAIU LATENNG

-
A LATUN

A
AT
grumuu’?u%mﬁ
i

1nenauee

tung
]

yunaﬁhﬁkﬁntwﬁuogq

]
L nads

o' ao 4
UUNNBES TULIN (RDU

L} U
1.) Hrweearmnn q nlatinwamedna

Shear failure

Flexural failure

Furrowing

Tensile splitting test

Failure

Confining effect

Shear strength

Tensile strength

Compressive strength

Mechanical strain gauge

Strain

Cantilever beam

Mechanical property-

Frame

Mortar

High bond mortar

Brickwall

Brick shear wall
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Finess modulus
Modulus of rupture
Modulus of elasticity
Crack

Diagonal tension
Diagonal compression
Finite element method
Brittle material
Corfficient of friction
Additive

Stress

Tensile stress
Criticél stress
Compressive stress
Brick masonry

Brick couplet

Cross brick
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